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G() == 165. 17F (P (£’ (cos'Z — ) — 1. 37F(9) (5"
X cosZ(5cos*Z — 3) — 76.08F (@) (%)’(coszz, — %) (B2)
F(¢) = 0.998 327 + 0. 001 67cos2¢ (B3)
Of. =— 4.83 + 15. 73sin’¢ — 1. 59sin‘¢ (10 %m/s?) (B4)
Sy—— 1.16
S
C
Z_
rs
CS
7—
—
b—
B2 £ cosZ
I
B2.1 T
T_T0—241502O. 0+ t-0 /24 B
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B = — 0.004 8sin(p — N) — 0.000 8sin(2h — p — N)
+ 0. 003sin(s — 2h + N) + 0. 089 5sin(s — N)
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K S,-S,-AS + R,-R, -AR

- T, - T, — A, x T,-T,
C1.1.2
Ag =AG, +K S-S5 + R -R
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T,-T, ‘

Ag ZAGI + g/i—g/l C+ Ri—Rl

T —

T,

g’z—g'l—Ag’ C+ R,-R -AR

T, - T, - AT %
C1.2.2
Ag =AG + ¢i-¢, C+ R -R
g'z—g'l C+ Rz_Rl _
T, - T, x T, =T,
Ag =AG + ¢i-¢, C+ R -R
g’z—g'l—Ag, C+ R,-R, -AR
T, - T, - AT %
C_
gh g CG-3
LCR
g’i_
Ag'—
Cl.1
c2
CG-3
1 2 3 n-1 n n n-1 3 2 1
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AG, =47.249 x 10 m/s
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